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Intro
Today we will n”va learn 3"y 97 of main> noon é//‘/ é/ » 7/’/’)/A/‘/

Some of the topics we will learn about include. ’N J n I’v nw-r’p

The Machlokes Sxipw1 27 in the case of

RINOY TWTP

Dno YY1 101N

He gave a woman Kiddushin with a °Xin, that she does 7 nal M?A/

NOT have o773 however, when he married her and they )

cohabited, he did NOT reiterate the *xan. Both é//‘/ G » a?//w Mé/// G » /Ww

7N says that YRmwr 17 disagree whether we say that that he iy whether we Saly that

e v o PYITH DWD ROW by pwimp Dwd dvni
ecause

M NP2 N>V 70 OIR PR when there iy w s Because

A person does not want his cohabitation to be considered because N9V NWIY 0T PR

a min nxa. Therefore, he consummated the marriage with
the intention of a new unconditional X2 w1 7p, even if
she has o771, Therefore,

VYDA A8

She requires a Get.

NIRINR NNYT Mt N3

@/mewmo%

pﬂ ’/)é/’}/-? -t

117 disagrees with »ar in which both Sximw) 17 agree that
heis
POITR DWH R5W Y12 when there is a *Rin, because
. TPRINNR 7P NYT
He married her based on the *xin.

However, SRy 27 disagree in a case of

DNR TR

DWI NV PYI

In a case in which he married the same woman twice, if
his *rin for her initial Kiddushin can be applied to her
subsequent Kiddushin
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. So let'sreview ...

MONT N WD
In the previous Daf the Mishnah taught;
o D' TP PN NI By
07375 PRY Nan Y fmple e nsbv INYN
073 775D IRION
NWTIPD PR DYTPa AN
A man who gave a woman Kiddushin, with a’xin, a
stipulation, that she does NOT have any vows; and he i b b nﬁbv INYY - ARD oIS
discovers that she DOES have o'773; the Kiddushin is
NOT effective. However, mi=highen] N‘?W N¥R
g::;:,;; X the Kiddushin IS effective - however..
721192 ROV K30

If he married her without a °xin, and they discovered that
she had o773; the Kiddushin IS effective. However, he can
divorce her without paying the Kesubah.

The Gemara discusses a Machlokes Sxipw1 17
IR alatall
RIN OV WP

ono Hya1 oI

He gave her Kiddushin with a *xin that she does NOT
have o77); however, when he married her he did NOT

BND 5P oI - NN 5y e

reiterate the R, He gave her Kiddushin with a Non
DR 27 but, when he married her he didn’t reiterate the 'Non
. VAN NN

She requires a Get.

21N SN MmN 21

VI IR PR A28 N =k k'y
She does NOT require a Get. mJ 1:?:#” m; unqn

IR SRIPW)
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The Gemara offers several explanations of this
Machlokes:

1.

»2N explains:

27 holds that the marriage is effective, because, RMON Py
we say;

mu NYY1In»YI v DIR PR

rorrR owb Sy

A person does not want his cohabitation to be considered
a mi nx2. Therefore, he consummated the marriage with
the intention of a new unconditional 78’2 w1 7p, even if
she has 0771, Therefore,

VMY IR

She requires a Get.

However,

PRING I K>

RP PRIN RO PIVN

He did NOT retract the 'Rin regarding monetary matters.
Therefore,

72915 X2 R3N

She is NOT entitled to a Kesubah.

However, >8mw holds the marriage is NOT effective,
because,

™Mt YY1 I 0IR

PoITR owH Hya R

He had NO intention of a new unconditional nx’2 Wy 7p.
Therefore,

VNPT I PR

She does NOT even require a Get.

Sxae

The ma//n’a?@ i Mot %&m@
N2 WY DTR

mar N9

PWITPH DY HY2 RN

He had no intention
of anew
unconditional
DN OWITD

2% AN
akRhialy|

She does NOT evens
require w ef.
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Yan
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The ma//n’a?& % %@dbt/&

M2 DWW DR PR

mat nHYwa
PWITR DWH Hyn
He married her

with the intention of a new
unconditional NN2 WIT),

=Nahy
(ak Rl

However,

NORINYD 5NN R
kp >0 il

M29nS NOa N¥N
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According to this understanding, the Gemara explains -
that according to m, the Mishnah’s ruling of

DNno no1»

DT 'Y INXNI

NN XY R¥N

Refers to both

DNO NOMI 'NaN Ty nuTp

AND

DNO NOI DNO NWT'P

In which

02 1120 DX

She requires a xnixm va even in the case of wn W nwp
ono noni, because,

nir AV INTWA AW DR 'R

'wIT'I owh vl

However,

Nnd1 XY R¥N

Because

n'Nan' ''nn X9

As explained earlier;

However, according to sxmw, the Mishnah'’s ruling of
DNno no1

0T 'Y NN

MInd XY K¥N

Refers only to

DNO NO1I DNO NWT'P

In which

02 1IN DX

She only requires a pnm va;

02 N2 NRYI' W' NWR INNX' X9

So that people should NOT think that one can divorce
without a Get;

However, she does NOT require a xn#ixm v3;

AND

NN XY X¥NI

She is NOT entitled to a Kesubah, because

N'NTI NYUNRD 'WONR 'R INXRT

'NT "INNT [XNDI

His claim for not wanting a wife that imposes o is
considered as if he specified a =n.

However, according to sxmw, the Mishnah does NOT refer
to

ONO NOMI 'Nan 1y nuTp

Because in that case

NYUTIIN NI'R

The marriage is NOT effective at all;

02 112'N ND"MX NN

She does NOT require a va even jm, because he clearly
specified a wan, and there is no wen.

Another explanation for

DNO NOXI DNO NWT'P

02 1IN NDNX

NN XY X¥NI

Is as follows;

N3 XIO0N IS0 Xan

The Mishnah has a peo whether we say
N'INTI NWUNRD 'WONR 'X

NT "INXT [KND

Whether it is assumed that one does not want a wife who

makes oan? And, even if he does not explicitly say so, it
is an implicit wn? Therefore,

X71j79 Xxamn a2

X2nIN' XI0'R '
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In whick 4
V2 12070 NN DNo NWTpP
Sﬁaanlwww ONO NOIN
@ gprsy ¢é In whichs
Ge s 22 O ol e 4002 10070 NI
However, she does _S/w/rejm'rww
not reguire a it Ok it b
4 even in the m%
RN DY NOTP
0OND NDI1D),
because,
/y;//}/o s 2y p3t e
/97 Pl o

N21N02 RHW XYM
She iy nat entitled ty a
Kesubah, because
2)73) W MOk # Wz
W N3 fepo!

Another Wumom
RN
MY RPDON DO
wheither we
%1971 NWR2 "WDR IR
MT NINRT RN
And, evers i he dves not

. 1,
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1127 offers another explanation of the Machlokes 1
SRipwy, and says that it is NOT based on the concept of
™M N»Y1 N2 I DX PR

But rather

DWITW MYV NPT

The Machlokes is in a case of two women - as follows:
RINHY PORI VTR

A man gave a woman Kiddushin with a xin.

DND 1O DO 7PV WD)

And he then married a second woman without a *Xin.
DYTIPOY IRIDN

And he discovered that the second wife has o371.
Does the *xin apply to the second woman as well?

17 holds
VXN IR

She requires a Get, because we do not apply the °Xin to her

- As Rashi explains, because,

TOP K215V 120 1T

Perhaps the second wife is more attractive, and with her
he does NOT object to o771

Sxmow holds

VI A A8 APR

She does not require a Get, because we DO apply the *Nin
to her as well - As Rashi explains, because,

A YT 0T I

Since he included a *xin with the first wife, we assume
that he objects to 0173 with the second wife as well, and
it's as if he made a *xin with her too.

However,

DR TUR ML YR

VIR AIB PR 5511727

All agree in a case in which

DN 170321 °RIN Y ooTPR

He gave a woman Kiddushin °Xin3, and married her
without a ’xin; that she does NOT require a Get, because,
PRINN PNYT

He married her based on the *xin.

PRINN PNYT

He only married her based on the *xin of her present
Kiddushin.

DYW1 *NYW MYV - NPIYNN

M e

N0 "0y - BND
P73 >Y/4 =

NPNT D
"Win 5p

Doey the 7 M ty the second woman as well?

Sxvae

Y N
kR biaby

OMV7 D7 MO
92
We assume that

he aé/'eo?‘y T p3) with the

second w%@ as well,

and 'y as i he made &

59/) with her too

|

N2y
23 A

DY D330 HNDT
7900 P

NNR WX MYV Har
V2 1N NN PR YON M7
All agree in a case in which
DND NDJ2) 'NaN by YT
that she does not require a Get, because,

MNONDN MNDT
He marvied her based on the ,gﬁ
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The Gemara proves from the previous X701 X5pw that
DR TR ML NI

They disagree even in the case of the same woman.

Therefore, 727 modifies his reasoning and says that they
disagree in a case of

NNR TOR

DWI Y PYI

One woman in a situation similar to two women, as
follows;

AW RN HY TUTR

A man gave a woman Kiddushin with a °Xin, and divorced
her before marriage.

DND 70131 DNO NV

And he subsequently gave her a second Kiddushin
without a *Xin, and married her without a *Rin.

D773 7OV IRRDN

And he discovered that she has o72.

27 holds

VWP IR

As Rashi explains because

T NINR TR DT

RDP ARINR PHO RN

When he remarried her with a second Kiddushin, she is
considered like another woman, in which he did NOT rely
on the "Rin of the previous Kiddushin. Therefore,

rorTp owb Ha

Srmw holds

VI A NIV APR

As Rashi explains because

P37 TWRIWOR IRT 7PNYT D)

ROP ARINR JHO1

He already revealed that he objects to a n°3773 "wR, and he
relies on the 'Rin of the previous Kiddushin. Therefore,
RN owh >3

RNT IR TR Myva Har

VYT NP APR 577727

However, all agree in a case in which he gave a woman
Kiddushin °x1n3, and subsequently married her without a
N1, that she does NOT require a Get, because,

PRINN 7’ NYT

He only married her based on the *Xin of her present
Kiddushin.

DafHachaim.org
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P35/ 3)'/? /b’y/

S a9

27X AN
kRl

"%
kb iaby

ODY7 B
D7) DEHS EDH D7
HHP OPINH PHDY
er%w&,

4 P17

RNT) DNR NWKR NPV Har
V212D NN NIR HON M2T

All agree in a case in which he gave a
woman Kiddushin YNJN2
and later married her without a YNJ»,
that she does not require a Get, because,
MMNODN MNHDT
He marvied her based on the .

W7 HIND OEH D7
HHP DHIH PHD HN

/’5/97) pf/ /}/,a
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The Gemara explains further that we cannot compare
RN S wpn to the following cases:

7019 MWD MNo1 VTP

He gave her Kiddushin of less than a 70119 mw, and then
married her;

OR

WVTRW 1OR

A minor boy gave Kiddushin to a woman, and then
married her, and they remained married until he became a
5175, at which time they cohabited;

OR

0P DI UTPR

A man gave Kiddushin to a minor girl who is not mwn2
2R, and then married her, and they remained married
until she became a 1173, at which time they cohabited;
In all these cases there is a Machlokes, and according to
one opinion

V)19

Because in those cases

10179 MWD NN POOIN PWITR PRV VTP DTN

POITR DWH Sy mn

D52 JOR WITR PRY VTV DR
POTTR 0w SYa1 N

D192 7I0R WITH PRY VTP OTR

POITR W Yy mn

Since he certainly knows that the original Kiddushin was
not valid, he has in mind for the cohabitation to be a new
Kiddushin.

However, in our case of

RINHY WP

At the time of the marriage and nx’a he does not yet know
- and has no reason to believe - that the ’Nin is not
fulfilled, rendering the original Kiddushin not valid.
Therefore,

51 Rp DNWRIT POITRT ROVTR DY Rp 90

He does NOT intend for a new Kiddushin. Rather, he
cohabits based on the original Kiddushin which has the
N1 attached to it. And, when it turns out that the "Rin was
NOT fulfilled, the original Kiddushin is nullified, and all
agree

VNI IR PR DI 72T

DafHachaim.org

We cannot compare YN Dy wTpn
to the following cases

v 1P
nne wIpw
D

wIp
MY NI52
fpiia)lgis

In all these cases there is a Machlokes,
and according to one opinion
D3 NN

YT DTN
POITH PRY
MND32 PODIN
NV1ID MYN

Y7 DTN YT DTN
PRY PRY

VP CWITR  Op WP
oY n) ]

Vi Pl o W o

However, in our case a% 7% W ooy
At the time of the marriage and DN2
he does not yet know that the N1 is not fulfilled
W%am,
/fa £p /y/&'ﬁ) /5/9799 Lryst /fp t/o o/
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